




(b) (a) 

(c) (d) 



(d) 



PSNR = 29.06                 NC = 0.9809 PSNR = 25.05                 NC = 0.9765 PSNR = 29.73                 NC = 0.9966 

PSNR = 26.70                 NC = 0.9574 PSNR = 26.44                 NC = 0.9798 PSNR = 25.10                 NC = 0.9798 

PSNR = 24.99                 NC = 0.9709 PSNR = 30.29                 NC = 1.0000 PSNR = 29.29                 NC = 0.9776 

PSNR = 27.40                 NC = 0.8969 PSNR = 21.77                 NC = 0.9204 PSNR = 24.51                 NC = 0.9664 

(a) (b) (c) 

(d) (e) (f) 

(g) (h) (i) 

(j) (k) (l) 
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